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4. E¥Z3 (11825Y)
N = x4 9) | E-A Flow Volume EdsE S
ZH=) (£/min) (£) (7H/cnr)
1 3-1 85 12.566 1,068 0.0023 7| &x|o|gt
2 3-1 85 12.527 1,065 0.0018 7| Zx|algt
3-1 85 12.572 1,069 0.0023 7| Zx|algt
3-2 85 12.559 1,068 0.0018 7| Zx|algt
3-2 85 12.594 1,070 0.0018 7| Zx|olgt
6 3-2 85 12.519 1,064 0.0014 7| &x|o|gt
7 3-3 85 12.554 1,067 0.0028 7| Zx|olgt
8 3-3 85 12.556 1,067 0.0023 7| & x|o|gt
9 3-3 85 12.528 1,065 0.0018 7| Zx|olgt
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4. EMZ3 (11€26Y)
N =xi9x Z-A Flow Volume E¥EsE I
ZHZE) (£/min) (2) (4 /cm)
1 3-4 85 12.566 1,068 0.0028 7| =0l gt
2 3-4 85 12.502 1,063 0.0023 7| =x|o|gt
3 3-4 85 12.537 1,066 0.0023 7| =x|o|gt
4 3-5 85 12.569 1,068 0.0028 7| Z=x|o| gt
5 3-5 85 12.554 1,067 0.0018 7| =0l gt
6 3-5 85 12.542 1,066 0.0018 7| &=x|o|gt
7 HEA 85 12.584 1,070 0.0018 7|&=x|o| gt
8 HEA 85 12.584 1,070 0.0023 7| =0l gt
9 HE|o|C|of Al 85 12.550 1,067 0.0028 7| =0l gt
10 HE|o|C|of Al 85 12.548 1,067 0.0023 7| &=x|o|gt
11 HE[o|C|of 4 85 12.578 1,069 0.0018 7| &x|o| gt
12 3-6 85 12.540 1,066 0.0014 7|Z=x|o|gt
13 3-6 85 12.544 1,066 0.0014 7| &=x|o|gt
14 3-6 85 12.575 1,069 0.0018 7| =x|a|gt
15 Al EH 85 12.551 1,067 0.0028 7|&=x|o| gt
16 Al EH 85 12.558 1,067 0.0023 7| =x|o|gt
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=MD (11827Y)

N = x4 9) | E-A Flow Volume EdsE I
ZH=) (£/min) (£) (7H/cnr)
1 sk 85 12.594 1,071 0.0027 7| &x|o|gt
2 == 85 12.536 1,066 0.0023 7| Zx|algt
3 =5 85 12.564 1,068 0.0023 7| Zx|algt
4 Mokl 85 12.527 1,065 0.0014 7| Zx|algt
5 H k2 85 12.573 1,069 0.0028 7| Zx|olgt
6 H k2 85 12.563 1,068 0.0028 7| &x|o|gt
7 H k3 85 12.546 1,066 0.0028 7| Zx|olgt
8 A3 85 12.569 1,068 0.0023 7| & x|o|gt
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